9/ TRIGONOMETRIC RELATIONSHIPS

SIMPLIFYING TRIGONOMETRIC EXPRESSIONS

Example 10
Simplify:
a 3cosf 4+ 4cost
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To simplify compllcated trigonometric ex?ressmns we often use the ldentltles
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Simplify: G\ C. :
a 2-2sin’6 b cos?fsinf + sin® #

Q(‘ N S\.V\2®> Siv\9<<—°$'26+3|'n26)
2 Cosze zSIn®®




‘ Expand and simplify:  (cosf —sinf)? \
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EXERCISE 11C.1
1 Simplify:

a sinf +sinf
d 3sinf — 2sinf

2 Simplify:
3sin? @ 4 3 cos2 @
d 3-3sin’6
g cos?f—1
i 1 —sin’ @
cosZ #
3 Simplify:

a 3Jtanz — e

sinzx
d
tanzx

4 Expand and simplify if possible:

a (1+sing)?

d (sina+ cosa)?

5 Expand and simplify:

b 2cosf 4 cosf
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b —2sin?6 —2cos2 6

@4 —4cos® 0

h sin®0-1
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cosZx

e Jsinxr 4 2cosxrtanz

b (sina-—2)?
(sin 3 — cos 3)?

(sinz 4+ tanz)(sinz — tanx)
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3sinf —sinf

2cos®f — 5 cos’f

—~ cos?f — sin® 6
cos® @ + cosfsin® @
2cos26 —2
cosZf—1

—siné

tanrcosx

2tanx

sinx

(tana — 1)

—(2 - cosa)?



FACTORISING TRIGONOMETRIC EXPRESSIONS

Factorise: a cos?a —sina b tan®# — 3tanf + 2
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EXERCISE 11C.2

1 Factorise:
a 1-sin%6

d 2sin?g3 —sing
g tan’6+ 5tanf + 6

2 Simplify:

1 —sin? a
a ———

1 —sina

d cos? ¢ — sin? ¢

cos¢ — sin ¢

how that:

-0
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cosf

b sin’a — cos?a c
2cos ¢ + 3 cos? ¢ f
h 2cos?6+ 7cosf + 3 i
2
b tan“ 3 —1 c
tan3+ 1

sina + cos «

sin

a (cosf+sinf)? + (cos@ — sinf)?
b (2sinf +3cosf)? + (3sinf — 2cosh)?
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14 cos@

sin @

sin @

1—cosf 14 cosé

sin @
1+ cos@
i sin @
1
3 1 —sinf
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1 4+ siné

a — cos2 o

simplifies o 2

simplifies to 13

) simplifies to tanfsinf

d (1+, )(sint‘) sin? @)  simplifies to cos?6
k sin 6

simplifies to
simplifies to

simplifies to

tan?a — 1
3sin’ @ — 6sind

6 cos? a — cosa

cos? ¢ — sin? o)
cos @ + sin¢
3 —3sin%0
6 cos 0

sin @

tané

cos2 0’
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